
Tatting Bookmark 

General  

Rn:  ring n (Ring 1 is left last one down) 
-:  picot 
+:  Attach 
Bn:  Chain (Chain a is is the chain after ring 

1) 
SR:  split ring  
FP:  false picot 
S1:  shuttle 1  
S2:  Shuttle 2  
Sl:  Close Rinf 
RW:  Reverse Work  
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First round 

SR: 6/6 Sl  

R1: 4-4-4-4 Sl RW  

From * to * 10 times  

* 
B: 6 RW 
R: 4+(last picot last ring)4-4-4 Sl RW 
* 
B: 6 RW 
R12: 4+(last picot last ring)4-4-4 Sl 
R13: 4+4-4-4-4-4 Sl 
R14: 4+4-4-4 Sl RW  

From # to # 10 times  

 # 
B: 6 (attach to the base of the opposing ring) RW 
R: 4+(last picot last ring)4-4-4 Sl RW 
#  

B: 6 (attach to the base of the opposing ring) RW 
R12: 4+(last picot last ring)4-4-4 Sl  

SR: 4+(last picot last ring)4-4 / 4+(first picot ring 1)4-4 Sl    
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Second Round 

Start at the ninth ring of the left side 
R : 3-3-1-1-3-3 Sl RW 
B: 3+ (attach to picot of the 8e ring of the first round) 3 RW  

From * to * vier times 
* 
R : 3+(last picot last ring)3-1-1-3-3 Sl RW 
B: 3+ (attach to picot of the next ring of the first round)3 RW 
* 
R : 3+(last picot last ring)3-1-1-3-3 Sl RW 
B: 3-3 RW 
R: 3+(last picot last ring)3-1-1-3-3 Sl  
R: 3+(last picot last ring)3-1-1-3-3 Sl RW 
S2: R: 3-3+ (2e picot top ring first round)3-3 Sl 
B: 3+(picot last ring)3 RW 
R: 3+(last picot last ring)3-1-1-3-3 Sl  
R: 3+(last picot last ring)3-1-1-3-3 Sl RW 
S2: R: 3-3+ (3e picot top ring first round)3-3 Sl 
B: 3+(picot last ring)3 RW 
R: 3+(last picot last ring)3-1-1-3-3 Sl  
R: 3+(last picot last ring)3-1-1-3-3 Sl RW 
S2: R: 3+(picot last boog) 3+ (3e picot top ring first round)3-3 Sl 
B: 3+(picot last ring)3 RW 
R: 3+(last picot last ring)3-1-1-3-3 Sl  
R: 3+(last picot last ring)3-1-1-3-3 Sl RW 
S2: R: 3+(picot last boog) 3+ (4e picot top ring first round)3-3 Sl 
B: 3-3 RW  

From * to *  12 times 
* 
R : 3+(last picot last ring)3-1-1-3-3 Sl RW 
B: 3+ (attach to picot of the next ring of the first round)3 RW 
* 
R : 3+(last picot last ring)3-1-1-3-3 Sl RW 
B: 3-3 RW 
R: 2+(last picot last ring)2-1-1-2-2 SL RW 
B 3+(Attach to picot of the SR of the first round) 3 RW 
R: 1—1-------------(large picot needed for the tail) 1—1 SL (take 
the picot through the closing ring) RW 
B: 3+3 RW 
R: 2—2-1-1-2-2 SL RW 
B: 3-3 RW  

From * to * 6 times 
* 
R : 3+(last picot last ring)3-1-1-3-3 Sl RW 
B: 3+ (attach to picot of the nextring of the first round)3 RW 
* 
R : 3+(last picot last ring)3-1-1-3+ (first picot first ring)3 Sl RW 
B: 3+ (attach to picot of the next ring of the first round)3 RW 
Finish  
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